103-Rimmer Name

Hand-In HW # 6 Recitation

Spring 2013

8. The slope of the line that is tangent to the graph of

y=f(x)=x>" at the point (1,1) is

(@ -2 (b)) 2 (o (@) 1 (o) -1
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9. Ify=f(x)=x"+3x+2 andif g(x)=f"(x) then
g(2)=

@0 )3 (@3 (@5 ()16
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9. Let

f(x)=sin™ (2(3"")
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13. Let
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14. Let A)
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y =In(arctan x)
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3. Let f(x)=x"In(2x).
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L. Let
f(x)=2xInx, forx>0.

Find /7 (2).

D) 0

H) 2In2+2
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Spring 2009

1. Iff(x)=¢", thenf”(0)=

A) 2 C) E) — G) |

SN

B) -2 D) F) e H) None of these
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Spring 2013 #8: B
Spring 2013 #9: B
Fall 2012#9: E
Spring 2012 #13: B
Spring 2012 #14: H
Fall 2011 #3: D
Spring 2011 #2: F

Spring 2009 #1: B




